WEIPD|I(HEHELY) &= =5 2 NBAE

H0

o
I
4
o
=
Y

KIS AH

- BAE : 0~16%

- HYSAE  510(W)*1,600(L)
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- ME=Z : 180Kg
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- ZlHsiESE  150Kg
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- =T RMUE0IE A, FND, LED CIAZa0l, A2,
SSUAT, A BAl SSIHD, PROGRAN HA
- MBS : 70Kg
- ZIGIESE  150Kg
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No =3 =g 3 M= AF2E
NE(ER) : PVC + RaIE 2T AIS, SHES
S4B AEX AR
£ 24 D2 D NBR+ SR A AIBOR &
A2 X YU WRY 24
SH EH B HEE T2 AB/RAUX
NE(BITE) : PVC + REEH ATH AE, HAE
17 1 1380+960+800 S48 AEX AR
£2 &4 02 1 NBR + SR AT AIBOR =
AS 9N 2 URY 24
SH EH B HE T2 AB/2ASX
NE(BIXH) : PVC + REIE ATH AHS, SAEHS
18 1 2100+700+1050 SAE AET A
£ &4 02 1 NBR + SR AT AIBOR =
AS 9N 2 UTY 24
19 s Pe 1 880 1180+2150
=2 : 60kg
20 2 470+930+980 ot : 2007 | 6Oz
21 1 400+500+650 2 : 14.5kg
22 2 12,000+24,000+600
3=c3
23 1 2200 He - %0
24 200
25 210 META 1 2.5kg#2, Skord, 10kgx2, 15kgr?




